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Name: Date: Period: Score: First attempt due:
Practice Worksheet: Final corrections due:
Polynomial Long Division

Answer each question using the work shown in the box below.

1] Write the standard form of the original polynomial.

500= x4 R Xx-32

2] Write the factored form of the original polynomial.

50z (x+3)(n-1)x4H)

3] Identify all zeros of the original polynomial.

X=-3 X={ K=-|

4] Sketch the graph of the original polynomial.

Find the missing information in each problem using the work shown.

5] K 4bx +1B 6]

X4 x3+ax®-Lx +13

X2+ Ay 2- X FI2

g i -(2430%)
bx2-bx +1 -X*-bv + 12
- (x* -24x) - £3-3%)
13X+ -3x 41
-(l%x—n) - §'3¥ -q)
84 -
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Circle any errors in each polynomial long division and explain what the student did wrong.

=\ 2
7] X2 -y 54 __—-—)\(_g 8] - xiﬂ): LIX s _,—;Zl
x-3 | x3-8x*#alx -18 w2 | X #3-Xa +3
-(3-32 - (XY -ax?) ox
3 a
~11X? 1alx -18 qxs-x +3
~ (-1 +3%) - (4x* %)
s'x-\3 %43
- (54x-\@) - (75-1)
-\1%06 =

Use long division to find the quotient. Show all work.

9] (1022 +19x — 25) + (x + 3)

10] (x* - 19x —30) = (x - 5)

10x~11 R3 3 .X‘+5><+L_LO
Kt3Toxvax-25 Mgy XTI DCHoxt 130
~ (19x"+30x) ={% -sxl
..nx -25 sz-‘qx
- (-11x -33) ~5x*-25x)
bx~30

“(bx -30)

’ 3
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Use long division to rewrite f(x) in factored form and find all zeros. Then sketch the graph. Show all work.

11] f(x) — 4x3 — 6x? + 36x — 27 has a factor of ,r
(x = 3) with multiplicity two.

3 [1-4-6 36 -2% '
— Q 4 B 2.
$ %3273 0y

——

-—3— ' ) ‘ = q q O Factored Form:
3 b -9 x 509=(x-3)* (x+3)(%-1)

— Zeros:

| 2-3 O )(‘-‘-3;.\MII|FZ x=-3 X=|
X42x-%

(x+3)(x-)

(0,-2%)
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Use long division to rewrite f(x) in factored form and find all zeros. Then sketch the graph. Show all work.

11) f(x) = x* — 4x3 — 6x?% + 36x — 27 has a factor of
(x = 3) with multiplicity two.

e Keix-d
2 X - bx +9 1 - (x"£3bx -2

S

- (% b 40
: 3
¥ 2)( . xz.(.w)( Factored Form:
(I IR C S M () (0
¥ e o -3% $18%-2F X=;mod K2-3 Ke|

3{3/\,\/‘ “ (‘ 3¢9 -2F)
- %
So ... ,(Xz-(ox HXx’nx -3 (x-s)(x—s)(ma)(x—\)
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12] f(x) = 2x® — 3x? — 14x + 15 has factors of
(x —=1)and (x - 3).
| |2 =% -4y IS
2 -1 - I§;
- | ~-IS O Factored Form:
% (x-)(x-3)(2<4S)
,:_5, = =} = ‘S' Zeros:
B3 | W X=1 X=3 x=-S
2 0

Made with Doceri



Untitled 428.pdf Page 6 of 7

BONUS: f(x) = —x5 + 7x* — 9x3 — 27x? 4 54x has a factor of 2
(x = 3) with multiplicity 3.

3l 3 -9 -axs4i o -
\_{_-3 .9 SY 0

- 0
N | .1 3 Ix 0 Factored Form:

p % (3 (et}

. '3 ) ‘lé_ Zeros:
LN X0 (X-33:0 X+270
-

2 i ~g X=o X:=3jymulk) X>-2
172 0
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